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Which condition is characterized by the degeneration of the hip joint?
A. Hip Dysplasia

C. Osteoarthritis v

D. Fracture

C. Osteoporosis

Which part of the hip bone forms the anterior portion?
A. llium
C. Pubis v

D. Sacrum
C. Ischium

Which gender typically has a wider and shallower pelvis?
A. Male

C. Both equally

D. Neither

C. Female v

What is the primary purpose of a hip replacement surgery?

A. To correct bone deformities

C. To increase bone density

D. To prevent fractures

C. To replace damaged hip joints v

What are the primary reasons for performing a hip replacement surgery?
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The primary reasons for performing a hip replacement surgery include severe pain, reduced
mobility, and joint damage caused by arthritis or injury.

What are common conditions affecting the hip bone?

A. Fractures v

C. Osteoarthritis v’
D. Hip Dysplasia v’
C. tendonitis

Explain the role of the acetabulum in the hip joint.

The acetabulum plays a crucial role in the hip joint by serving as the socket that accommodates the
head of the femur, enabling a wide range of motion while maintaining joint stability.

How does the hip bone contribute to the overall movement and stability of the human body?

The hip bone contributes to overall movement and stability by connecting the spine to the lower
limbs, allowing for a wide range of motion while maintaining balance and support for the body's
weight.

What are the anatomical variations of the hip bone?

A. Gender differences v’
C. Age-related changes v
D. Genetic mutations

C. Nutritional deficiencies

Discuss the impact of osteoporosis on the hip bone and potential consequences.

Osteoporosis leads to decreased bone density in the hip, making it more susceptible to fractures,
which can result in serious health issues such as immobility, chronic pain, and increased mortality
risk.

What functions does the hip bone serve?

A. Protection of internal organs v’
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C. Production of red blood cells
D. Structural support v’
C. Attachment for muscles v

Identify and explain the developmental process of the hip bone from childhood to adulthood.

The hip bone develops from three separate bones: the ilium, ischium, and pubis, which gradually
fuse together during childhood and adolescence to form a single, solid pelvic bone by the late
teenage years.

Which part of the hip bone is the largest?
A. Ischium

C. Pubis

D. Acetabulum

C. llium v

Which movements are allowed by the hip joint?

A. Flexiéon v
C. Rotation v
D. Inversion

C. Extension v

Which of the following are components of the hip bone?

A. llium v

C. Femur

D. Ischium v
C. Pubis v

What type of joint is the hip joint?
A. Hinge joint

C. Ball-and-socket joint v/

D. Saddle joint
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C. Pivot joint

Which imaging technique is commonly used to assess hip bone structure?

A. Ultrasound

C. PET scan

D. Electrocardiogram
C. X-ray v

Which surgical interventions are related to the hip bone?

A. Hip Replacement v/
C. Osteotomy v

D. Arthroscopy

C. Laminectomy

Describe the differences in the pelvis between males and females and explain why these differences
exist.

The key differences in the pelvis between males and females include a wider pelvic arch, a larger
pelvic inlet, and a broader sciatic notch in females, while males typically have a narrower and more
robust pelvis. These adaptations in females facilitate childbirth, reflecting evolutionary changes
related to reproductive needs.

What is the primary function of the acetabulum?

A. Muscle attachment

C. Socket for the femur v’
D. Nerve passage

C. Blood supply
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